
Notons S la somme des n+1 premiers termes de la suite(
vn
)
. On a :

S = v0 + v1 + v2 + · · ·+ vn−1 + vn

q·S =

q·
(
v0 + v1 + v2 + · · ·+ vn−1 + vn

)
q·S = q·v0 + q·v1 + q·v2 + · · ·+ q·vn−1 + q·vn

q·S = v1 + v2 + v3 + · · ·+ vn + vn+1

Par soustraction de ces deux égalités : (q ̸= 1)

S − q·S = v0 − vn+1

S ·
(
1 − q

)
= v0 − vn+1

S ·
(
1 − q

)
= v0 − v0·qn+1

S ·
(
1 − q

)
= v0·

(
1 − qn+1

)
S =

v0·
(
1 − qn+1

)
1 − q

S = v0·
1 − qn+1

1 − q
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